BK S:t Erik

Nyarssilver 2011-01-

Partavling, 25 bord, 49 par.

01

Antal brickor: 42. Medel: 965.8. Frirond (*) ger egen procent.

Plac Par Poéng % Namn MID Klubb
1 5 1206.0 62.42 Mart Altméae - Ake Sjoberg 5914 9207 BK S:tErik
2 1 1165.0 60.30 Thomas Magnusson - Tore Stormo 3693 78250 Nasby BS - Arla BK
3 34 1143.0 59.16 JanLagerman - Peter Bertheau 7856 16757 Nasby BS - BK Lavec
4 48 1102.0 57.04 Olle Wademark - Jan Andersson 14800 11704 BK S:tErik
5 49 1099.5 56.91 Johnny Ostberg - Staffan Schmidt 2051 2052 BK S:t Erik
6 12 1086.0 56.21 Per Grivenfeldt - Yvonne Flodgvist 89392 14805 BK S:tErik
6 23 1086.0 56.21 Peder Skaj - Frederic Wrang 83430 8652 BK S:tErik - Nasby BS
8 9 1076.0 55.69 Tora Philip - Lars Norback 7780 2809 BK S:t Erik - Lidingd BK
9 14 1071.0 55.43 Roger Ahlbom - Leif Linder 11528 11580 Bergsjo BK - Sorsele BK
10 25 1061.8 54.96 Goran Hammarstrém - Mikael Arnberg 11426 24686 BK S:t Erik
11 40 1060.0 54.87 Marten Gustawsson - Bjorn Borin 8699 2343  Nashy BS - BK S:t Erik
12 46 1045.0 54.09 Stefan Josefsson - Lillemor Strindberg 2033 8806 ArlaBK
13 13 1042.0 53.93 Anders Lindgren - Olle Wallin 13951 9246 BK S:t Erik
14 35 1039.2 53.79 Lars Andersson - Ulf Lundgren 13156 12024 BK S:t Erik - Tyresoé BK
15 37 1032.8 53.46 Sven-Owe Andersson - Peder Olrog 8954 9180 BK S:t Erik
16 28 1031.0 53.36 Birgitta Ternblad - Sten Ternblad 1981 9539 BK S:t Erik
16 32 1031.0 53.36 Kathrine Bertheau - Jessica Larsson 81089 17400 Filbyter Bridge
18 17 1025.0 53.05 Margaretha Norb&ck - Waldo Whiteman 8660 2111  Lidingd BK
19 10 1018.0 52.69 Bidrn Torbiérnsson - Mari-Anne Elsasdotter 8462 89478 BK S:tErik
20 6 1017.0 52.64 Lars Manneteg - Carmen Tuason 2944 89810 Upsala BS - BK S:t Erik
21 27 10134 5245 Fredrik Alfredsson - Simon Bech 83200 87173 Karlstads BK - BK S:t Erik
21 29 1013.4 5245 Per-Arne Karlsson - Anna Roos 1246 4289 BK S:tErik
23 47 1009.1 52.23 Solvig Gronstedt - Lars-Erik Dahlgren 11967 12143 BK S:tErik
24 19 1000.0 51.76 Johan Karlsson - Andreas Enblom 81517 81510 BK S:tErik
25 20 986.0 51.04 Bengt-Erik Efraimsson - Anna Zack-Einarsson 127 4049 BK S:tErik
26 8 985.0 50.98 Hans Nerell - Ake Falkunge 85810 9025 Vastra Bjare BK - BK S:t Erik
27 31 9789 50.67 Lars Julin - Roy Svensson 16721 +2203 BKS:tErk |
28 4 978.0 50.62 Jenny Rudenstal - Catharina Forsberg 15767 7124 BK S:t Erik - Orebridgen
29 24 970.0 50.21 Kaj Adolfsson - Tommy Strindfors 17773 818 BK S:t Erik
30 16 962.0 49.79 Per Clarin - Torbjorn Gustavsson 10538 1255 BK S:t Erik
31 45 948.8  49.11 Kristina Treufeldt - Lennart Andersson 2079 9387  Skarholmens BK - Stureby BK
32 33 937.7 48.54 Sven Holmberg - Bjorn Backstrom 17032 85384 BK S:t Erik
33 44 936.0 48.45 Kerstin Hastad - Bengt Lauthers 11222 32610 Danderyds BS - BK S:t Erik
34 30 930.0 48.14 Mona Iwarson - Paul lwarson 8655 12865 Lidingd BK
35 38 920.0 47.62 Ingvar Hogberg - Georg Bryntze 13608 9294  Tyreso BK
36 18 912.0 47.20 Lennart Wiklander - Per Lundquist 17072 10467 BK S:t Erik - BK Bridgeliv
37 39 878.8 45.48 Erland Sommarskog - Roger Eriksson 1921 9021 BK S:t Erik - Gnesta BK
38 50 877.0 45.39 Per Sdderberg - Christer Koch 18380 85704 Alvik BC - BK S:t Erik
39 22 862.0 44.62 Anders Johansson - Ann-Margret Johansson 10188 13810 BK S:t Erik
40 2 842.2  43.59 Micke Almgren - Sofia Ryman 11390 78200 Arla BK - BK S:t Erik
41 15 821.0 42.49 Lars-Erik Rudstrém - Conny Lovgren 10725 24860 BK S:t Erik
42 41 818.5 42.36 Tommy Eneqvist - Peter Flodqgvist 2243 14778 Tyreso BK - BK S:t Erik
43 43 803.4 4158 Fredrik Svensson - Carl-Johan von Uexkull 84752 34684 BK S:tErik
44 36 795.0 41.15 Ulla Petterson - Kenneth Hedstrom 37593 37592 BK S:tErik
45 21 782.0 40.48 Ann-Britt Carlén - Elisabeth Nordling 88227 11622 BK S:tErik
46 42 758.0 39.23 Sven Martensson - Ewa Eriksson 41916 80479 BK S:tErik
47 7 752.0 38.92 Linda Noaksson - Rainer Strémblad 35899 36041 BK S:tErik
48 3 713.0 36.90 Kerstin Helleberg - Barbro Westman 10190 13835 BK S:t Erik
49 11 706.0 36.54 Elsy Bergstedt - Florence Bodin 16858 83452 BK TvaEss
1 4103 2 4852 3 410843
Nord vKD4 Ost vKn Syd vKn4
Ingen ¢ K10985 NS ¢ Kn432 ov ¢ 763
#1092 #D8632 #D1042
4DKn7 4K986542 4 Kné 4 E9 4 EKKn 4D962
vE1072 v9853 v 865432 v D107 vD653 YvEK9
¢E742  +Kn +97 + KD1085 ¢E1095 ¢4
*Kn4 &D *K74 #Kn95 #65 #EKKn83
+E 4 KD10743 475
v Kn6 v EK9 v 10872
+ D63 ¢+ E6 + KDKn82
#EK87653 #E10 297
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang
6 45 54D S = 4Q 550 39.0 7.0(30 21 5vDV-4 a2 800 46.0 00| 6 45 6v O-2 .7 200 450 1.0
10 41 5¢DS= 4Q 550 39.0 7.0(16 35 44 S+1 v5 650 440 2.0(24 27 6NV -2 +3 200 450 10
12 39 54D S= a] 550 39.0 70| 6 45 44 S= +9 620 34.0 12.0| 3 48 6NV-1 LY:] 100 39.0 7.0
13 38 5¢DS= oK 550 39.0 7.0(12 39 44 S= +9 620 34.0 12.0| 4 47 6NV -1 a2 100 39.0 7.0
17 34 54DN= &K 550 39.0 7.0(13 38 44 S= +K 620 34.0 12.0 (40 11 6NV -1 +3 100 39.0 7.0
20 31 5¢DN=  #Q 550 39.0 7.0(15 36 44 S= +9 620 340 12.0(46 5 6v V-1 *4 100 39.0 7.0
44 7 54DS= 4Q 550 39.0 7.0(20 31 44 S= +9 620 34.0 120(49 2 3NO= +3 -600 34.0 12.0
50 1 54DS= 4Q 550 39.0 7.0(29 22 44 S= v3 620 34.0 12.0(30 21 3NV +1 *7 -630 31.0 15.0
30 21 54 N= 48 400 28.0 18.0 (32 19 44 S= v3 620 340 12.0(44 7 3NV +1 a4 -630 31.0 15.0
40 11 3NS= 4Q 400 28.0 18.0 (37 14 44 S= +9 620 34.0 12.0 (15 36 3NV +2 6 -660 24.0 22.0
43 8 54 S= 4Q 400 28.0 18.0 (40 11 44 S= +9 620 34.0 12.0(20 31 3NV +2 +3 -660 24.0 22.0
29 22 54D0O-2 ¥3 300 24.0 22.0(10 41 34 S+1 +9 170 20.0 26.0 {29 22 3NV +2 a4 -660 24.0 22.0
4 47 48 S+1 a2 150 20.0 26.0 (17 34 24 S+2 v9 170 20.0 26.0 (32 19 3NV +2 3 -660 24.0 22.0
16 35 44 S+1 4Q 150 20.0 26.0 (18 33 24 S+2 +9 170 20.0 26.0 (37 14 3NV +2 a4 -660 24.0 22.0
18 33 44 S+1 a] 150 20.0 26.0 (28 23 34 S+1 +9 170 20.0 26.0 (10 41 3NV +3 *7 -690 12.0 34.0
28 23 44DO-1 #A 100 14.0 32.0|42 9 34 S+1 +9 170 20.0 26.0 (13 38 3NV +3 LY -690 12.0 34.0
42 9 54 0-2 *A 100 14.0 32.0|43 8 14 S+2 +9 140 14.0 32.0|16 35 3NV +3 +3 -690 12.0 34.0
46 5 44DO-1 A 100 14.0 32.0| 3 48 44 S-1 +9 -100 6.0 40.0 (28 23 3NV +3 43 -690 12.0 34.0
348 44 O-1 *K 50 10.0 36.0| 4 47 44 N-1 +K -100 6.0 40.0(42 9 3NV +3 a3 -690 12.0 34.0
32 19 3NS-1 4Q -50 7.0 39.0(24 27 44 N-1 +8 -100 6.0 40.0(43 8 3NV +3 LY -690 12.0 34.0
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49 2 3NN-1 &Q -50 7.0 39.0(44 7 44 S-1 *7 -100 6.0 40.0{50 1 3NV+3 &4 -690 12.0 34.0
24 27 3NDN-1 «Q -100 4.0 42.0(46 5 44 S-1 +9 -100 6.0 40.0|12 39 64 O = + K -1370 4.0 42.0
15 36 34 O= &K -140 2.0 44049 2 44 N-1 v2 -100 6.0 40.0|17 34 6NV = .7 -1440 1.0 45.0
37 14 3NN-3 a3 -150 0.0 46.0(50 1 44 N-1 +K -100 6.0 40.0(18 33 6NV = LY -1440 1.0 45.0
25 - 25.3 25 - 25.3 25 - 25.3
4 a3 5 «D1098 6 « 10764
Vast vEDS Nord v D874 Ost v432
Alla 463 NS + D873 ov ¢ KDKn5
&#EKD8632 &6 &53
4 EK102 o- 4E73 &Kn & KD85 & EKn92
v10842 vKKn93 vE105 vKKn62 v Kn7 v EK5
+ 84 + EKDKN10975 ¢+ K642 ¢ E10 ¢ 74 ¢+ E10
&#Kn75 &10 &#EKn3 #K109754 &#ED1062 #KKn94
« DKn987654 & K6542 43
v76 v93 v D10986
*2 + Kn95 498632
94 D82 87
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 40 5vDV-1 &A 200 450 10( 1 3 3NO-1 49 50 41.0 50|21 32 74 O-1 +9 100 46.0 0.0
33 20 5v O-2 &9 200 450 10| 548 3NV-1 aT 50 410 5.0(29 24 44 O+2 *+K -680 43.0 3.0
17 36 4¢ O= &9 -130 42.0 4.0| 7 46 3NV-1 a8 50 41.0 5.0|50 2 44 O+2 +9 -680 43.0 3.0
38 15 34DS-1 8 -200 40.0 6.0(16 37 3NV-1 49 50 410 50| 7 46 64 O = a3 -1370 40.0 6.0
1 3 6#N-3 *A -300 38.0 8.0(38 15 2¢ V-1 49 50 41.0 50| 4 49 64 V= *+K -1430 34.0 12.0
19 34 54DS-2 +¢8 -500 35.0 11.0(47 6 3NV-1 a8 50 41.0 5.0|17 36 64 O= +9 -1430 34.0 12.0
44 9 54DS-2 +8 -500 35.0 11.0|13 40 3NV= 49 -400 26.0 20.0 (25 28 64 O = *2 -1430 34.0 12.0
548 5¢ O= &T -600 28.0 18.0|14 39 3NV= 49 -400 26.0 20.0 (31 22 64 O = +9 -1430 34.0 12.0
16 37 5¢ O= &9 -600 28.0 18.0|17 36 3NV= T -400 26.0 20.0 (38 15 64 O = +6 -1430 34.0 12.0
18 35 5¢ O = &9 -600 28.0 18.0|18 35 3NV= 49 -400 26.0 20.0| 5 48 64 O +1 vT -1460 20.0 26.0
25 28 5¢ O= &9 -600 28.0 18.0(|29 24 3NV= 49 -400 26.0 20.0 (11 42 64 O +1 +9 -1460 20.0 26.0
30 23 5¢ O= &9 -600 28.0 18.0|30 23 3NV= 49 -400 26.0 20.0 (13 40 64 O +1 +9 -1460 20.0 26.0
7 46 5¢ O +1 &Q -620 21.0 25.0|31 22 3NV= LY:] -400 26.0 20.0 (30 23 64 O +1 v9 -1460 20.0 26.0
43 10 5¢ O+1 4Q -620 21.0 25.0|33 20 3NV = 49 -400 26.0 20.0 (33 20 64 O +1 v9 -1460 20.0 26.0
45 8 5¢DO= &9 -750 17.0 29.0(44 9 3NV= 49 -400 26.0 20.0 (43 10 64 O +1 v6 -1460 20.0 26.0
50 2 5¢DO= &9 -750 17.0 29.0 |11 42 3NV +2 v4 -460 16.0 30.0(44 9 64 O +1 LX) -1460 20.0 26.0
4 49 64DN-3 +¢A -800 9.0 37.0(21 32 3NV +3 v7 -490 11.0 35.0(45 8 64 O+1 +9 -1460 20.0 26.0
11 42 64DN-3 ¢9 -800 9.0 37.0|25 28 3N O +3 +5 -490 11.0 35.0(47 6 64 O+1 v6 -1460 20.0 26.0
21 32 64DN-3 +¢A -800 9.0 37.0(43 10 3NV +3 v7 -490 11.0 35.0(14 39 6N O +1 +6 -1470 9.0 37.0
29 24 64DN-3 «Q -800 9.0 37.0|/45 8 3NV +3 aJ -490 11.0 35.0 (41 12 6N O +1 v8 -1470 9.0 37.0
41 12 64DN-3 ¢A -800 9.0 37.0|50 2 3NV +4 T -520 6.0 400| 1 3 74 0= a3 -2210 3.0 43.0
47 6 64DS-3 8 -800 9.0 37.0| 4 49 64 0= a2 -920 3.0 43.0(16 37 74 O= *2 -2210 3.0 43.0
31 22 5¢DO+1 &Q -950 2.0 44019 34 62 0O= +5 -920 3.0 43.0|18 35 74 O= *2 -2210 3.0 43.0
14 39 64DS-4 ¢8 -1100 0.0 46.0|41 12 6NO +1 v6 -1020 0.0 46.0(19 34 74 O= *2 -2210 3.0 43.0
- 27 24.1| - 27 24.1| - 27 24.1
7 « EK2 « KD85 & Kn2
Syd v Kn763 v ED643 v K10863
Alla + D105 + D106 ¢ Kn5
#1062 &K #KKn96
47653 & DKn4 a72 41063 «KD10 & E9654
vEK109 vD852 vK108 v75 v9 vKn74
¢ KKn +984 49742 ¢ EKn853 ¢ KD10842 4973
&#Kn83  &EK7 &#E973 &Kn52 &ED2 87
#1098 « EKn94 « 873
v4 v Kn92 v ED52
¢ E7632 +K +E6
D954 #D10864 #10543
Par  Kontr ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
48 7 3v O-3 T 300 46.0 0.0(22 33 44 N+2 +3 480 440 20|12 43 4v N= 7 420 46.0 0.0
19 36 4v O-2 a8 200 440 2.0(34 21 4y N+2 +8 480 440 2.0(14 41 54 O-2 vA 200 42.0 4.0
14 41 4v V-1 s A 100 32.0 14.0(|48 7 44 S+2 &3 480 440 20|46 9 5¢ V-2 v3 200 420 4.0
17 38 4v V-1 aA 100 320 140| 2 4 44 S+1 a7 450 33.0 13.0|/50 3 44 O-2 vA 200 42.0 4.0
18 37 4v V-1 s A 100 320 140| 5 1 44 N+1 SA 450 33.0 13.0|22 33 3v N+1 +3 170 38.0 8.0
20 35 4v V-1 s A 100 32.0 14.0|12 43 44 N+1 v7 450 33.0 13.0|42 13 3v N= +3 140 35.0 11.0
27 28 4v V-1 aA 100 32.0 14.0|17 38 44 S+1 +6 450 33.0 13.0(48 7 3v N= LY 140 35.0 11.0
34 21 4v O-1 aT 100 32.0 14.0|19 36 4vy N+1 +3 450 330 130| 5 1 44 0-1 vA 100 31.0 15.0
42 13 4v V-1 aA 100 32.0 14.0|20 35 44 S+1 +3 450 33.0 13.0| 8 47 5¢ V-1 v3 100 31.0 15.0
44 11 3v V-1 &2 100 32.0 14.0|31 24 44 N+1 *A 450 33.0 13.0|19 36 4¢ V= a] -130 26.0 20.0
45 10 4v O-1 aT 100 32.0 14.0|45 10 44 S+1 a2 450 33.0 13.0|34 21 4¢ V= v3 -130 26.0 20.0
46 9 4v V-1 s A 100 32.0 140| 6 49 4v N= v7 420 14.0 32.0(45 10 4¢ V= v3 -130 26.0 20.0
50 3 3vV- aA 100 32.0 140| 8 47 4v N= v7 420 14.0 32.0|27 28 3¢ V+2 v3 -150 21.0 25.0
8 47 INV= &2 90 20.0 26.0(18 37 4y N= &2 420 14.0 32.0(31 24 2¢ O +3 *A -150 21.0 25.0
2 4 3vV= s A -140 11.0 35.0(27 28 4v N= a3 420 14.0 32.0|15 40 34 O+1 vA -170 17.0 29.0
5 1 3vV= &K -140 11.0 35.0|30 25 4v N= v5 420 14.0 32.0(17 38 34 O +1 vA -170 17.0 29.0
6 49 2v O+1 aT -140 11.0 35.0(32 23 4v N= a3 420 14.0 32.0| 6 49 34 O +2 a3 -200 14.0 32.0
12 43 3v O = s A -140 11.0 35.0(39 16 4v N= v7 420 14.0 32.0|18 37 5¢DN-2 &A -300 11.0 35.0
22 33 3v V= aA -140 11.0 35.0(42 13 4v N= &2 420 14.0 32.0|30 25 4vDN-2 ¢3 -300 11.0 35.0
30 25 3v V= s A -140 11.0 35.0(44 11 44 N= 46 420 14.0 32.0(20 35 44 O= vA -620 6.0 40.0
32 23 3v V= s A -140 11.0 35.0(46 9 4v N= v7 420 14.0 32.0|32 23 44 O= vA -620 6.0 40.0
39 16 2v V+1 &K -140 11.0 35.0|50 3 4v N= *A 420 14.0 32.0(39 16 44 O= vA -620 6.0 40.0
15 40 3v V+1 & K -170 2.0 44014 41 44 S-1 *4 50 2.0 440| 2 4 44 O+1 *2 -650 1.0 45.0
31 24 44 V= aA -620 0.0 46.0(15 40 3NN-2 +5 -100 0.0 46.0(44 11 44 O+1 48 -650 1.0 45.0
- 29 241 - 29 241 - 29 24.1
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10 & K52 11 « 1086 12 & D942
Ost v DKn Syd v K982 Vast vD9
Alla ¢ Kn863 Ingen + 10 NS ¢+ ED3
#KD53 #EKD82 #DKn74
« 86 «ED1043 4 K9 4 EKNn7542 4108763 4KKn
v K104 v E98653 v43 v EDKn v 105 v Kn432
¢K1074 +E ¢ K9743 ¢ ES85 ¢ K762 10954
#Knl074 #6 #9764 #10 #52 #K103
& Kn97 «D3 ~E5
v72 v 10765 v EK876
¢ D952 ¢ DKn62 ¢ Kn8
#E£982 #Kn53 #E986
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
9 48 14 O+3 2 -170 46.0 0.0(32 25 44 O-2 3 100 46.0 0.0 6 2 3NN+2 ¢5 660 41.0 5.0
7 1 2v0+4 *8 -230 440 20| 6 2 3#N-2 oA -100 440 20| 7 1 3NN+2 *T 660 41.0 5.0
27 30 2v O+5 +5 -260 42.0 4.0(33 24 2¢ V+1 *K -110 42.0 4.0(21 36 3NN+2 5 660 41.0 5.0
15 42 4v O = v7 -620 40.0 6.0(45 12 34 O= 3 -140 40.0 6.0(23 34 3NN+2 oK 660 41.0 5.0
46 11 4v O+1 *A -650 38.0 8.0 9 48 3¢ V+2 *A -150 37.0 9.0(27 30 3NN+2 *4 660 41.0 5.0
19 38 4v O +2 v7 -680 30.0 16.0 (46 11 4% N-3 *T -150 37.0 9.0(32 25 3NN+2 4K 660 41.0 5.0
21 36 4y O+2 *A -680 30.0 16.0 (28 29 24 O +2 v6 -170 34.0 12.0(16 41 3NS+1 46 630 28.0 18.0
23 34 4v O+2 v7 -680 30.0 160 3 5 24 O+3 3 -200 26.0 20.0(18 39 3NN+1 &K 630 28.0 18.0
28 29 4v O +2 v2 -680 30.0 16.0 (13 44 34 O +2 3 -200 26.0 20.0 (20 37 3NN+1 5 630 28.0 18.0
35 22 4v O +2 +5 -680 30.0 16.0 (15 42 24 O +3 5 -200 26.0 20.0(28 29 3NS+1 +6 630 28.0 18.0
43 14 4v O +2 a7 -680 30.0 16.0(16 41 14 O+4 +Q -200 26.0 20.0 (33 24 3NN+1 oK 630 28.0 18.0
50 4 4v O+2 *A -680 30.0 16.0 (18 39 4& N-4 *T -200 26.0 20.0 {40 17 3NN+1 +9 630 28.0 18.0
3 5 4v0+3 v7 -710 11.0 35.0 (35 22 34 O +2 v6 -200 26.0 20.0 {47 10 3NN +1 *T 630 28.0 18.0
6 2 4v O+3 v2 -710 11.0 35.0(49 8 24 O+3 3 -200 26.0 200 3 5 3NN= +9 600 12.0 34.0
13 44 49 O +3 +5 -710 11.0 35.0(19 38 24 O +4 v6 -230 17.0 29.0| 9 48 3NN= *4 600 12.0 34.0
16 41 4v O+3 +5 -710 11.0 35.0 (43 14 34 O+3 3 -230 17.0 29.0 (15 42 3NN= oT 600 12.0 34.0
18 39 4v O+3 v7 -710 11.0 35.0 (23 34 44 O+1 3 -450 11.0 35.0(19 38 5# S = &5 600 12.0 34.0
20 37 4v V+3 5 -710 11.0 35.0 (27 30 44 O+1 3 -450 11.0 35.0(35 22 3NS= 3 600 12.0 34.0
32 25 4v O+3 +3 -710 11.0 35.0 (40 17 44 O+1 3 -450 11.0 35.0 (45 12 3NN= oT 600 12.0 34.0
33 24 4v V+3 +6 -710 11.0 35.0(50 4 44 O+1 3 -450 11.0 35.0(46 11 3NN= *T 600 12.0 34.0
40 17 4v O +3 2 -710 11.0 35.0 (20 37 44 O+2 3 -480 5.0 41.0(49 8 3NN= *3 600 12.0 34.0
45 12 4v O +3 +5 -710 11.0 35.0 (47 10 44 O +2 +Q -480 5.0 41.0(50 4 3NN= *T 600 12.0 34.0
47 10 4v O +3 v7 -710 11.0 35.0(21 36 4vyDN-3 «A -500 2.0 44.0(13 44 6« N-1 v2 -100 1.0 45.0
49 8 4v O+3 v2 -710 11.0 350 7 1 44 O+3 +Q -510 0.0 46.0 (43 14 6 N-1 *T -100 1.0 45.0
31 - 23.3 31 - 23.3 31 - 23.3
13 » EKD9 14 «E109 15 & 87654
Nord v 9854 Ost vK9 Syd v 103
Alla ¢ Kn92 Ingen ¢ 1054 NS ¢ D10853
*32 #Kn10943 3
# 865 & Kn42 4D762 «KKn54 4Knl02 «KD
v2 v D63 vD75 vEKn32 vE8652 vKn974
+ EKD105 ¢ 876 ¢ EK93 ¢ DKn86 ¢E ¢ K94
#K1064  #Kn875 #K5 &7 #E1052 #KKn97
« 1073 «83 «E93
v EKKn107 v 10864 vKD
+43 ¢ 72 ¢ Kn762
#ED9 #ED862 +D864
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
1 9 4v S+l ¢A 650 440 2019 40 3NV-1 *J 50 440 2.0(28 31 24 S-1 a2 -100 46.0 0.0
29 30 4v S+1 ¢A 650 440 2034 25 3NO-1 *6 50 440 20| 4 6 3vV+2 3 -200 40.0 6.0
48 11 4v N+1 ¢+ K 650 440 2036 23 3NV-1 ) 50 440 2.0(10 49 3v V+2 3 -200 40.0 6.0
7 3 44 N= +8 620 34.0 12.0|29 30 3NV= *J -400 40.0 6.0(20 39 3v V+2 3 -200 40.0 6.0
14 45 49 S= ¢A 620 34.0 12.0|14 45 44 V= EN -420 35.0 11.0 (47 12 3y V+2 3 -200 40.0 6.0
17 42 49 S= ¢ A 620 34.0 12.0|17 42 4a V= ) -420 35.0 11.0 (48 11 3y V+2 3 -200 40.0 6.0
19 40 4v S= ¢A 620 34.0 12.0|120 39 4a V= *J -420 35.0 11.0f 8 2 3NV= +5 -400 34.0 12.0
34 25 4v S= ¢+ K 620 34.0 12.0|48 11 44 O= *A -420 35.0 11.0(44 15 3NO+1 *2 -430 32.0 14.0
36 23 4v S= ¢ A 620 34.0 12.0|21 38 3NO +1 *2 -430 30.0 16.0( 1 9 4v V+1 3 -450 16.0 30.0
41 18 4v S= ¢ A 620 340 120| 1 9 44 O+1 *J -450 14.0 320 7 3 4vV+l 3 -450 16.0 30.0
20 39 2v S+3 46 200 26.0 200| 4 6 44 V+1 EN -450 14.0 32.0(14 45 4v O+1 +6 -450 16.0 30.0
21 38 2v S+2 *A 170 23.0 23.0| 7 3 44 V+l ) -450 14.0 32.0(16 43 4v V+1 3 -450 16.0 30.0
46 13 3v S+1 ¢+ K 170 23.0 23.0| 8 2 44 V+1 *J -450 14.0 32.0(17 42 4v V+1 3 -450 16.0 30.0
10 49 3v S= ¢A 140 18.0 28.0 |10 49 44 V+1 EN -450 14.0 32.0(19 40 4v V+1 3 -450 16.0 30.0
24 35 2v S+1 +Q 140 18.0 28.0|16 43 54 V= ) -450 14.0 32.0(21 38 4v V+1 3 -450 16.0 30.0
50 5 3vS= ¢+ K 140 18.0 28.0 |22 37 44 V+1 *J -450 14.0 32.0 (22 37 4v V+1 3 -450 16.0 30.0
4 6 4vS-1 ¢A -100 7.0 39.0(24 35 44 V+1 EN -450 14.0 32.0(24 35 4v V+1 3 -450 16.0 30.0
8 2 4vS-1 *A -100 7.0 39.0(28 31 44 V+1 ) -450 14.0 32.0(29 30 5v O= v6 -450 16.0 30.0
16 43 4v S-1 ¢A -100 7.0 39.0 (32 27 44 V+1 *J -450 14.0 32.0 (32 27 44 V+1 *J -450 16.0 30.0
22 37 4v S-1 ¢A -100 7.0 39.0 (41 18 44 V+1 EN -450 14.0 32.0(34 25 4v V+1 3 -450 16.0 30.0
28 31 4v S-1 *A -100 7.0 39.0 (44 15 44 V+1 ) -450 14.0 32.0(36 23 4v V+1 3 -450 16.0 30.0
32 27 4v S-1 ¢+ K -100 7.0 39.0 (46 13 4e V+1 *J -450 14.0 32.0(46 13 4v V+1 3 -450 16.0 30.0
44 15 4v S-1 ¢A -100 7.0 39.0 (47 12 44 V+1 EN -450 14.0 32.0(50 5 4vV+1l 3 -450 16.0 30.0
47 12 4v S-1 *A -100 7.0 39.0(50 5 44 V+1 LN -450 14.0 32.0 (41 18 3NO+2 *6 -460 0.0 46.0
33 - 22.4 33 - 22.4 33 - 22.4

BK S:t Erik, Nyarssilver 2011-01-01, sida 3 av 8




16 « D654 17 « EDKN95 18 4108743
Vast v D10 Nord v K10 Ost v74
oV + D8 Ingen ¢ E65 NS + D109
#Kn9652 #Kn93 #1083
sE & KKn109872 4 K72 41043 4 KDKNn9 465
v Kn43 v E98765 vKn652 vE4 vEKD8 v Kn93
¢ EKKn109 + - + D109 +84 ¢ K654 ¢ EKn7
£10743 »- #EK8 #1076542 &K #EDKN96
43 4 86 s E2
v K2 v D9873 v 10652
¢ 765432 ¢ KKn732 4832
#EKD8 &D #7542
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
5 7 44 0-1 &K 100 41.0 5.0|37 24 3NN+1 &3 430 46.0 00| 9 3 3NV+3 a4 -490 420 4.0
9 3 440-1 A 100 41.0 5.0|22 39 3v S+1 &K 170 40.0 6.0|11 1 3NV+3 a7 -490 420 4.0
21 40 6v O-1 A 100 410 5.0|25 36 24 N+2 &2 170 40.0 6.0(17 44 3NV +3 a4 -490 420 4.0
34 27 6v O-1 &K 100 41.0 5.0|34 27 2v N+2 *6 170 40.0 6.0|25 36 3NV +3 a7 -490 420 4.0
47 14 64 O-1 &K 100 41.0 5.0|45 16 2v N+2 &4 170 40.0 6.0(49 12 3NV +3 43 -490 420 4.0
48 13 6v O-1 &K 100 410 5.0(49 12 2v S+2 A 170 400 6.0| 2 10 6NO= aA -990 18.0 28.0
25 36 34 O+2 &K -200 34.0 120 2 10 3#0O-3 48 150 330 130 5 7 6NV= 48 -990 18.0 28.0
45 16 54D S-3 4A -500 32.0 14.0(18 43 2N S+1 v6 150 33.0 130 8 4 6NO= aA -990 18.0 28.0
17 44 44 O= &A -620 30.0 160 5 7 3v N= &K 140 27.0 19.0 (15 46 6NO= aA -990 18.0 28.0
2 10 4v O +1 &K -650 20.0 26.0 (15 46 34 N= vA 140 27.0 19.0(18 43 6NO= aA -990 18.0 28.0
8 4 44 O+1 *Q -650 20.0 26.0 (17 44 2v N +1 43 140 27.0 19.0 (20 41 6NO= aA -990 18.0 28.0
15 46 5v O= A -650 20.0 26.0 (33 28 2v N +1 &4 140 27.0 19.0 (21 40 6NO= aA -990 18.0 28.0
18 43 4v O +1 A -650 20.0 26.0 (47 14 3¢ S+1 A 130 21.0 25.0(22 39 6NO= v5 -990 18.0 28.0
20 41 4v O+1 *Q -650 20.0 26.0 (48 13 3¢ S+1 A 130 21.0 25.0(23 38 6NO= a4 -990 18.0 28.0
22 39 4v O+1 A -650 20.0 26.0(11 1 INS+1 v5 120 18.0 28.0(30 31 6NO = aA -990 18.0 28.0
23 38 5v O = A -650 20.0 26.0(20 41 2v N= +8 110 16.0 30.0(32 29 6NO = aA -990 18.0 28.0
33 28 4v O +1 *Q -650 20.0 26.0( 9 3 4vy N-1 +8 -50 14.0 32.0|33 28 6NO= aA -990 18.0 28.0
50 6 5v 0= &A -650 20.0 26.0( 8 4 34 N-2 +8 -100 10.0 36.0(34 27 6NO= aA -990 18.0 28.0
11 1 4v O+2 &K -680 8.0 38.0(23 38 3NS-2 v6 -100 10.0 36.0 (37 24 6NV = a7 -990 18.0 28.0
30 31 5v O+1 A -680 8.0 38.0(30 31 3NS-2 A -100 10.0 36.0 (42 19 6NO= aA -990 18.0 28.0
49 12 4y O +2 A -680 8.0 38.0(21 40 3NN-3 &5 -150 4.0 42.0(45 16 6NV = a4 -990 18.0 28.0
42 19 34aDN-6 ©vA -1400 4.0 42.0|32 29 3NS-3 A -150 4.0 42.0(47 14 6NO= +2 -990 18.0 28.0
32 29 6vy O= A -1430 1.0 45.0|42 19 3NN-3 &7 -150 4.0 42.0(48 13 6NO= aA -990 18.0 28.0
37 24 6y V= a5 -1430 1.0 45.0|50 6 3NN-4 &5 -200 0.0 46.0(50 6 6NO= aA -990 18.0 28.0
35 - 24.7 35 - 24.7 35 - 24.7
19 41074 20 «E9 21 « D1095
Syd v 1054 Vast v E986 Nord vKKn73
ov *- Alla + K63 NS 493
#Kn1098542 &E1087 »K62
& KDKn6532 4D1084 46532 4Kn6432 +E
vKD732 v- vD107 vKn4 v ED4 v 9865
4972 + KD64 ¢ E107 ¢ Kn82 ¢E4 + D62
&#ED63 K7 K94 D632 &E74 #Kn10983
«E9 & KKn7 « K87
v EKn986 v K532 v 102
+ EKn10853 + D954 + KKn10875
&- &Kn5 «D5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
113 44DO-3 +¢A 800 420 40| 1 13 4v S= 48 620 35.0 11.0(34 29 24DV-3 +¢9 500 450 1.0
30 33 44DO-3 +¢A 800 420 4.0|10 4 4v N= 43 620 35.0 11.0(50 7 24DV-3 +¢9 500 450 1.0
34 29 44DV-3 ¢A 800 420 40|12 2 4vy N= *Q 620 35.0 11.0(24 39 3vyDO-2 #Q 300 420 4.0
46 17 54DO-3 ©vA 800 420 4.0|16 47 4v N= 46 620 35.0 11.0|30 33 3NO-4 vT 200 40.0 6.0
48 15 44DO-3 +¢A 800 420 4.0|18 45 4v N= 46 620 35.0 11.0|10 4 24 V-3 +9 150 35.0 11.0
19 44 44DO-2 ©vA 500 36.0 10.0 (23 40 4v N= a2 620 35.0 11.0|18 45 3NV -3 49 150 35.0 11.0
35 28 54 O-3 aA 300 34.0 12.0|30 33 4y N= 46 620 35.0 11.0|21 42 24 V-3 +9 150 35.0 11.0
16 47 44 O-2 ¢ A 200 28.0 18.0|31 32 4vy N= 2 620 35.0 11.0|49 14 1INV -3 *2 150 35.0 11.0
21 42 44 O-2 vA 200 28.0 18.0(|34 29 4v N= a4 620 350 11.0( 1 13 2¢ S+1 a2 110 30.0 16.0
36 27 44 O-2 vA 200 28.0 18.0|38 25 4y N= *2 620 35.0 11.0|12 2 3NO-2 *7 100 25.0 21.0
43 20 44DO-1 +A 200 28.0 18.0 |46 17 4y N= &3 620 35.0 11.0|19 44 24 V-2 +9 100 25.0 21.0
49 14 34 O-2 *A 200 28.0 18.0(49 14 4v N= &3 620 35.0 11.0(46 17 1INV -2 a5 100 25.0 21.0
6 8 340-1 *A 100 22.0 240(50 7 3NN= &3 600 22.0 24.0(48 15 3v O-2 *Q 100 25.0 21.0
18 45 4¢vyDS-1 48 -100 19.0 27.0 (48 15 24D O-2 &J 500 20.0 26.0| 3 11 2¢v0O-1 a7 50 18.0 28.0
38 25 4vDS-1 438 -100 19.0 27.0 (21 42 34 O-3 v3 300 18.0 28.0|22 41 INV-1 +9 50 18.0 28.0
50 7 3¢ S-4 48 -200 16.0 30.0 (22 41 INS+4 48 210 16.0 30.0(31 32 INO-1 a5 50 18.0 28.0
12 2 5¢vDS-2 48 -300 14.0 32.0(36 27 3v N+1 2 170 140 320 9 5 2¢ S-1 43 -100 13.0 33.0
10 4 5vDS-3 48 -500 10.0 36.0| 3 11 INN= vJ 90 12.0 34.0|35 28 2¢ S-1 a2 -100 13.0 33.0
22 41 5¢DS-3 48 -500 100 36.0( 6 8 4v N-1 43 -100 70 390 6 8 3#0= *T -110 10.0 36.0
24 39 5vDN-3 «Q -500 10.0 36.0(24 39 3NN-1 vJ -100 7.0 39.0(16 47 2NO= *T -120 6.0 40.0
311 44 O= *A -620 6.0 40.0(35 28 4v N-1 vJ -100 7.0 39.0(23 40 INO+1 .7 -120 6.0 40.0
9 5 3NV+1 &J -630 4.0 42.0(43 20 3NN-1 43 -100 7.0 39.0(38 25 INO+1 *J -120 6.0 40.0
23 40 5¢DS-6 48 -1400 1.0 450| 9 5 3NN-2 a5 200 1.0 45.0(36 27 3# 0O +1 *T -130 2.0 44.0
31 32 5¢DS-6 48 -1400 1.0 45.019 44 3NN-2 46 2000 1.0 45.0(43 20 2v O +1 +5 -140 0.0 46.0
- 37 246| - 37 246| - 37 24.6
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4 Kn75 23 « 107 24 « Kn87
v D865 Syd v EKD54 Vast v DKn107
+ KD10 Alla + 1073 Ingen ¢ EKKn3
#1065 #1092 #Kn7
4K «ED84 aD2 4 863 465 «ED104
vK1092 v73 v93 v 862 v9432  vK65
9864 ¢ EKn532 ¢ EKD4 ¢ Kn9652 ¢ 64 + D1075
#KDKn3 #E2 #EKDG65 %84 #KD654 #E2
4109632 # EKKn954 4 K932
v EKn4 v Kn107 vE8
*7 +8 ¢ 982
*9874 *Kn73 10983
Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
3NO-1 vJ 100 46.0 0.0(32 33 5#RDO-3 «A 1600 46.0 0.0|13 3 INDO-2 &T 300 450 1.0
3¢ O+1 oT -130 44.0 2.0(20 45 3yDN=  #8 730 440 20|24 41 INDO-2 T 300 450 1.0
3NO = a2 -600 38.0 8.0(36 29 3NO -6 4 A 600 420 40|23 42 2¢ O-3 vA 150 410 5.0
3NO = *9 -600 38.0 8.0(23 42 5¢DV-2 &A 500 40.0 6.0|44 21 24V-3 ¢+ K 150 410 5.0
3NV = a5 -600 38.0 80| 1 15 5¢ O-2 &K 200 36.0 10.0| 1 15 2NO-2 43 100 32.0 14.0
3NO= *9 -600 38.0 8.0(10 6 34 S+2 ¢*A 200 36.0 10.0| 4 12 INO-2 &T 100 32.0 14.0
5¢ O= vA -600 38.0 8.0(47 18 34 S+2 ¢*A 200 36.0 10.0|19 46 2vDV-1 +¢K 100 32.0 14.0
3N O +1 a2 -630 25.0 21.0(22 43 34 S+1 ¢ A 170 32.0 14.0|25 40 INO-2 &T 100 32.0 14.0
3NO+1 *9 -630 25.0 21.0(31 34 3v N= 8 140 30.0 16.0|35 30 2NO-2 +9 100 32.0 14.0
3NV +1 v6 -630 25.0 21.0(11 5 4¢ O-1 oK 100 25.0 21.0|47 18 INO-2 a2 100 32.0 14.0
3NV +1 v5 -630 25.0 21.0(13 3 3aV-1 vA 100 25.0 21.0|49 16 24 V-2 ¢ A 100 32.0 14.0
SN O +1 43 -630 25.0 21.0(24 41 3+ V-1 vA 100 25.0 21.0|32 33 INS= 5 90 24.0 220
3NV +1 &5 -630 25.0 21.0(37 28 4¢ O-1 s A 100 25.0 21.0| 2 14 24 0-1 a7 50 18.0 28.0
3NV +1 *6 -630 25.0 21.0(17 48 34 S-1 *A -100 19.0 27.0(20 45 2# V-1 vQ 50 18.0 28.0
SN O +1 3 -630 25.0 21.0(49 16 34 N-1 ¢2 -100 19.0 27.0(27 38 2v V-1 ¢*A 50 18.0 28.0
3NV +2 ¢+ K -660 10.0 36.0(50 8 3# V= vA -110 16.0 30.0(36 29 INO-1 43 50 18.0 28.0
3NV +2 *2 -660 10.0 36.0( 4 12 3V +1 &2 -130 11.0 35.0(37 28 INO-1 &T 50 18.0 28.0
3NV +2 ¢+ K -660 10.0 360 7 9 44V= a7 -130 11.0 35.0(10 6 INS-1 ¢2 -50 10.0 36.0
3NV +2 ¢+ K -660 10.0 36.0 (35 30 44 V= vA -130 11.0 35.0(17 48 24 S-1 +6 -50 10.0 36.0
3NV +2 ¢+ K -660 10.0 36.0 (44 21 4¢ V= vA -130 11.0 35.0(22 43 INS-1 *4 -50 10.0 36.0
3N O +2 *9 -660 10.0 36.0 (27 38 4¢ O +1 4K -150 6.0 40.0(11 5 24 S-2 *K -100 5.0 41.0
3NV +2 a5 -660 10.0 36.0( 2 14 3vyDN-1 2 -200 3.0 43.0(31 34 24 S-2 +6 -100 5.0 41.0
3N O +3 43 -690 1.0 45.0(25 40 3v N-2 &2 -200 3.0 430(50 8 INO+1 +9 -120 2.0 44.0
3N O +3 a2 -690 1.0 45.0(19 46 5¢ O= 4K -600 0.0 46.0( 7 9 2v N-3 *A -150 0.0 46.0
20.9 39 - 20.9 39 - 20.9
4 Kn9 26 «Kn104 27 « Kn1043
v EKn Ost vD Syd v K83
¢ E105 Alla +10842 Ingen ¢ 975
#KKn9532 #KKn643 £976
4D743 #K106 «E865 D932 4EK72 465
v32 v D98754 vK4 v 752 v DKn v E1094
¢ K872 ¢ Kno4 ¢D53 ¢ KKn976 ¢ K10 ¢ DKn64
S#EB6 &7 #E1098 &7 #D10432 #EKn8
« E852 « K7 D98
v K106 v EKn109863 v 7652
+ D63 ¢+E ¢ E832
«D104 #D52 *K5
Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
3N N +3 v2 490 440 20|24 43 4v S+1 6 650 46.0 0.0|11 7 3¢ O-2 8 100 46.0 0.0
3N S +3 v3 490 440 20(14 4 4vS= 4 A 620 410 50| 3 15 3NV= a4 -400 41.0 5.0
3N S +3 *7 490 440 20|23 44 4vS= 4 A 620 410 5.0|25 42 3NV= a4 -400 41.0 5.0
3N N +2 v7 460 34.0 12.0|28 39 4v S= LY 620 410 50|28 39 3NO= 2 -400 410 5.0
3N N +2 v5 460 34.0 12.0|37 30 4v S= 4 A 620 410 50|48 19 3NO= 4 A -400 41.0 5.0
3N S +2 7 460 340 120| 1 17 34 O-2 *A 200 320 140| 1 17 3NO+1 +Q -430 29.0 17.0
3N S +2 7 460 340 120| 5 13 34 O-2 ¢ A 200 32.0 140|12 6 3NV +1 v2 -430 29.0 17.0
3N N +2 v2 460 34.0 12.0| 8 10 2v S+3 +Q 200 320 140|14 4 3NO+1 48 -430 29.0 17.0
3N S +2 v3 460 34.0 12.0|32 35 2v S+3 +3 200 32.0 14.0|23 44 3NO+1 v7 -430 29.0 17.0
3N S +2 ¢2 460 34.0 12.0|38 29 3v S+2 *3 200 32.0 14.0|24 43 3NO+1 *K -430 29.0 17.0
3NN +1 v8 430 18.0 28.0|18 49 3v S+1 4 A 170 23.0 23.0|40 27 3NV +1 a) -430 29.0 17.0
3N S +1 a4 430 18.0 28.0|20 47 3v S+1 s A 170 23.0 23.0|45 22 3NV +1 43 -430 29.0 17.0
3NN +1 v4 430 18.0 28.0|25 42 3v S+1 2 170 23.0 23.0|50 9 3NO+1 v7 -430 29.0 17.0
3NN +1 v3 430 18.0 28.0(48 19 3v S+1 4 A 170 23.0 23.0| 2 16 3NO+2 +5 -460 11.0 35.0
3NS +1 v3 430 18.0 28.0|50 9 3v S= 4 A 140 18.0 28.0| 5 13 3NO+2 v6 -460 11.0 35.0
3NN +1 v5 430 18.0 28.0|12 6 34 O-1 vA 100 150 31.0| 8 10 3NO+2 2 -460 11.0 35.0
3NN +1 v8 430 18.0 28.0|36 31 34 O-1 vA 100 150 31.0|18 49 3NV +2 +9 -460 11.0 35.0
3NN +1 v5 430 18.0 28.0| 2 16 4v N-1 s A -100 8.0 38.0(20 47 3NO+2 +3 -460 11.0 35.0
3N S +1 v3 430 18.0 28.0|11 7 3v S-1 *3 -100 8.0 38.0(21 46 3NO+2 ¢ A -460 11.0 35.0
3NS = v3 400 7.0 39.0|21 46 4v N-1 *7 -100 8.0 38.0(32 35 3NV +2 +5 -460 11.0 35.0
3NN = v7 400 7.0 39.0|40 27 4v S-1 4 A -100 8.0 38.0(36 31 3NO+2 v7 -460 11.0 35.0
2N S +3 ¢2 210 4.0 420145 22 4v S-1 *A -100 8.0 38.0(37 30 3NO+2 v7 -460 11.0 35.0
2& N +2 v5 130 1.0 450 3 15 34 0= vA -140 2.0 44.0(38 29 3NO+2 *2 -460 11.0 35.0
3& N +1 v8 130 1.0 45.0(33 34 4vyDS-1 &A -200 0.0 46.0(33 34 3NV +3 *6 -490 0.0 46.0
195 - 41 195 - 41 195
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28 a72 29 « DKn94 30 4 ED2
Vast v 87432 Nord vKn Ost v 97543
NS ¢ DKn10 Alla + D65 Ingen .-
&EKKn £109872 #DKn1097
484 4 EDKN1095 &K 4532 43874 410653
vD10965 - v D106 v EK98543 vKn82 vKD
+ K5 + 8764 ¢ E10732 +84 + K1082 ¢ Kn53
&#D1095 #642 &EK43 &D &ES53 K842
4 K63 « E10876 « KKn9
v EKKn v72 v E106
¢ E932 ¢ KKn9 ¢+ ED9764
#3873 #Kn65 &6
Par Kontr ut Res Poang Par Kontr ut Res Poang Par  Kontr ut Res Poang
4 16 3#DV-5 #A 1100 46.0 0.0|13 7 3v O+2 *K -200 46.0 0.0(33 36 4v N+1 &4 450 46.0 0.0
24 45 34DV-4 +Q 800 440 2.0(27 42 4v O+1 +9 -650 43.0 3.0( 9 11 3NN+1 &3 430 440 20
9 11 3NS+1 a5 630 41.0 5.0|33 36 4v O+1 v2 -650 43.0 3.0( 2 18 4vy N= a5 420 34.0 12.0
49 20 3NS+1 v9 630 41.0 50| 2 18 4v O+2 +2 -680 24.0 22.0( 3 17 4vy N= &4 420 34.0 12.0
6 14 3NS= &9 600 34.0 12.0| 3 17 4y O+2 aA -680 24.0 22.0( 4 16 4v N= a5 420 34.0 12.0
15 5 3NS= 48 600 340 120| 6 14 4v O+2 v2 -680 24.0 22.0(12 8 4vy N= a5 420 34.0 12.0
29 40 3NS= 48 600 340 12.0( 9 11 4v V+2 4Q -680 24.0 22.0(13 7 4vy N= a2 420 34.0 12.0
34 35 3NS= 48 600 34.0 12012 8 4v O+2 v7 -680 24.0 22.0(21 48 4v N= a5 420 34.0 12.0
41 28 3NN= v9 600 340 120(15 5 5vV+1 ] -680 24.0 22.0(22 47 4v N= vK 420 34.0 12.0
19 1 3404 43 200 28.0 18.0 (21 48 4v O +2 aA -680 24.0 22.0(25 44 4v N= a2 420 34.0 12.0
12 8 2v N+1 +8 140 26.0 20.0 |22 47 4y O+2 aA -680 24.0 22.0(49 20 4v N= &3 420 34.0 12.0
317 24 0-1 vA 50 24.0 22.0|25 44 4vy O +2 4Q -680 24.0 22.0(27 42 3NN= *2 400 23.0 23.0
218 3NS-1 48 -100 19.0 27.0 (34 35 4v O +2 +9 -680 24.0 22.0(38 31 3NN= 3 400 23.0 23.0
13 7 4v N-1 aA -100 19.0 27.0 (37 32 4v O +2 aA -680 24.0 22.0( 6 14 2v N+2 a5 170 19.0 27.0
22 47 3NS-1 48 -100 19.0 27.0(38 31 5v O +1 &5 -680 24.0 22.0 (37 32 2v N+2 &4 170 19.0 27.0
39 30 3NS-1 48 -100 19.0 27.0 (39 30 4v O +2 v7 -680 24.0 22.0(46 23 2v N+1 vK 140 16.0 30.0
21 48 4v N-2 &2 -200 10.0 36.0 (41 28 4v O +2 v3 -680 24.0 22.0(39 30 2¢ S+1 a4 110 14.0 32.0
25 44 4v N-2 +8 -200 10.0 36.0 (46 23 4v O +2 aA -680 24.0 22.0(19 1 2¢ S= a4 90 11.0 35.0
33 36 4v S-2 48 -200 10.0 36.0 (49 20 4v O +2 aA -680 24.0 22.0(34 35 2¢ S= a4 90 11.0 35.0
37 32 4v N-2 &2 -200 10.0 36.0 (50 10 4v O +2 v7 -680 24.0 22.0(15 5 3NN-1 &4 -50 6.0 40.0
38 31 4v N-2 +6 -200 10.0 36.0| 4 16 4v O +3 &5 -710 4.0 42.0(41 28 3NN-1 43 -50 6.0 40.0
50 10 5v N-3 aA -300 4.0 42019 1 4v O+3 v7 -710 4.0 42.0(50 10 34 S-1 v2 -50 6.0 40.0
27 42 4vyDN-2 &A -500 1.0 45.0(29 40 4y O+3 »6 -710 4.0 42.0(24 45 2NS-2 v2 -100 1.0 45.0
46 23 4vyDN-2 +6 -500 1.0 45.0(24 45 6v O= aA -1430 0.0 46.0|29 40 3¢ S-2 43 -100 1.0 45.0
- 43 19.1| - 43 19.1| - 43 19.1
31 « EK54 32 « D653 33 475
Syd v 7532 Vast v K862 Nord v 87543
NS ¢ 762 ov *7 Ingen + K983
&#K3 #Kn1097 98
493 « DKn6 & K97 4 E10842 4 KDKn842 «EI10
vED64 108 vD974 105 v Kn62 vKD10
4985 + KD103 + K1083 ¢ E2 +D + Kn10742
#10842 &E975 K3 D862 #K54 #ED10
410872 & Kn 4963
v KKn9 v EKn3 vE9
¢ EKn4 ¢ DKn9654 ¢ E65
#DKn6 &E54 #Kn7632
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par  Kontr Ut Res Poang
4 18 34 S= +5 140 450 10|50 11 34DV-2 7 500 46.0 0.0|27 44 4v V-2 &9 100 46.0 0.0
20 2 24 S+1 a5 140 450 1.0|10 12 34 O-2 vA 200 440 20|35 36 3NO= a2 -400 440 20
27 44 INS+1 49 120 420 40|14 8 340-1 +Q 100 420 4.0(47 24 3NO+1 49 -430 420 4.0
121 24 S= +5 110 34.0 12.0|20 2 Pass 400 6.0 1 21 44 O+1 vA -450 21.0 25.0
10 12 24 S= +5 110 34.0 120| 1 21 2¢ S-1 a7 -50 36.0 10.0| 3 19 44 V+1 v8 -450 21.0 25.0
16 6 24 N= + K 110 34.0 12.0|27 44 2v N-1 »6 -50 36.0 10.0| 4 18 44 O +1 vA -450 21.0 25.0
30 41 24 S= 43 110 34.0 12.0|28 43 2¢ S-1 a7 -50 36.0 10.0| 5 17 44 O+1 46 -450 21.0 25.0
35 36 24 N= vT 110 34.0 12.0| 5 17 3v N-2 &3 -100 29.0 17.0| 7 15 44 O+1 vA -450 21.0 25.0
40 31 24 S= 43 110 340 12.0(23 48 2¢DS-1 &7 -100 29.0 17.0 (10 12 54 O = vA -450 21.0 25.0
50 11 2v N= *+K 110 34.0 12.0|35 36 3¢ S-2 &K -100 29.0 17.0(13 9 44 O+1 &2 -450 21.0 25.0
47 24 INS= vA 90 26.0 20.0 (38 33 3¢ S-2 a7 -100 29.0 17.0(14 8 44 O+1 *6 -450 21.0 25.0
517 INO-1 48 50 23.0 23.0| 319 24 O= +Q -110 22.0 24.0(16 6 44 O+1 3 -450 21.0 25.0
34 37 INO-1 a7 50 23.0 23.0( 7 15 24 O= v3 -110 22.0 24.0(20 2 44 O+1 43 -450 21.0 25.0
7 15 INO= a7 -90 20.0 26.0(16 6 24 O= +Q -110 22.0 24.0 (23 48 44 V+1 &9 -450 21.0 25.0
319 34S-1 +5 -100 11.0 350 4 18 34 O= +Q -140 17.0 29.0 (25 46 44 O +1 vA -450 21.0 25.0
13 9 34 S-1 *2 -100 11.0 35.0(42 29 34 O= vA -140 17.0 29.0 (28 43 44 O +1 &2 -450 21.0 25.0
14 8 2NN-1 &5 -100 11.0 35.0(30 41 3¢ S-3 a7 -150 14.0 32.0 (30 41 44 O +1 a2 -450 21.0 25.0
22 49 34 S-1 +5 -100 11.0 35.0(47 24 2¢DS-2 &7 -300 12.0 34.0 (34 37 44 O+1 *2 -450 21.0 25.0
23 48 34 S-1 a4 -100 110 35.0(13 9 3¢DS-3 a2 -500 8.0 38.0(38 33 44 O +1 &7 -450 21.0 25.0
25 46 34 N-1 + K -100 11.0 35.0(22 49 3¢DS-3 a7 -500 8.0 38.0(39 32 44 O +1 vA -450 21.0 25.0
28 43 24 N-1 vT -100 11.0 35.0 (39 32 4¢DS-3 a7 -500 8.0 38.0(40 31 44 O +1 LY -450 21.0 25.0
42 29 34 S-1 43 -100 11.0 35.0(34 37 24DO= +Q -670 4.0 42.0(42 29 44 V+1 +8 -450 21.0 25.0
39 32 44 S-2 +5 -200 2.0 44.0(40 31 34DO= +Q -730 2.0 44.0(50 11 44 V+1 &9 -450 21.0 25.0
38 33 64 S-4 +8 -400 0.0 46.0(25 46 3vyDN-4 +A -800 0.0 46.0(22 49 3N O +2 +5 -460 0.0 46.0
- 45 22.6| - 45 22.6| - 45 22.6
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« EDKn64 35 « E87 36 4« K6
v72 Syd v D52 Vast v E10965
¢ K72 (6)) + 1063 Alla + KD
&EK7 &ED109 £Kn872
48 & K109532 a4 & K102 4942 « D875
vKD9864 v53 vEKKn8 v6 v Kn4 v73
4 Knl0543 +E ¢+ KDKn87 ¢ E9542 ¢ EKn432 ¢ 109875
&Kn #9542 #Kn65 #K872 21094 &D6
a7 « DKn9653 « EKn103
v EKn10 v 109743 v KD82
+ D986 .- +6
#D10863 43 &#EK53
Par Kontr ut Res Poang Par Kontr ut Res g Par  Kontr ut Res [o]
10 4vDV -4 &A 800 450 10| 2 22 5¢ O-1 *2 100 20| 4 20 6y N= +5 1430 8.0
33 24DV-4 &A 800 450 10| 519 5¢ V-1 +3 100 2.0(14 10 6vy N= T 1430 8.0
19 3NN +1 aT 630 38.0 80(39 34 5¢ V-1 aA 100 2.0|24 49 6v N= T 1430 8.0
16 3NN +1 &4 630 380 80|21 3 44 S-1 vA -50 6.0 (27 46 6v N= *T 1430 . 8.0
9 3NN +1 49 630 38.0 80|14 10 44 S-2 *+K -100 8.0(31 42 6vy N= &Q 1430 . 8.0
1 3NN+1 v5 630 38.0 8.0(40 33 3¢ V+1 +3 -130 10.0|35 38 6¥ N= +8 1430 . 8.0
38 3NN +1 &2 630 38.0 80|17 7 54 S-3 vA -150 14.0|39 34 6v N= v3 1430 . 8.0
20 3NN= 49 600 29.0 17.0|31 42 3¢ V+2 +3 -150 14.0 |43 30 6¥ N= T 1430 . 8.0
7 3NS= vK 600 29.0 17.0(36 37 3¢ V+2 &T -150 14.0 (50 12 6v N= v3 1430 . 8.0
49 3NN= »5 600 29.0 17.0|24 49 44DS-2 YA -300 19.0( 5 19 4v N+2 +5 680 .0 23.0
25 3NN= v6 600 29.0 17.0|48 25 44DS-2 K -300 19.0 (15 9 4v N+2 T 680 .0 23.0
22 4vDO-2 £Q 300 240 220| 6 18 44DS-3 +¢K -500 22.0(17 7 5v N+1 *Q 680 .0 23.0
34 34 O-5 &8 250 22.0 240| 4 20 5¢ V= aA -600 31.0|23 1 5v S+l *T 680 .0 23.0
18 34 V-4 &A 200 19.0 27.0| 8 16 5¢ V= +3 -600 31.0 (29 44 4v N +2 v7 680 .0 23.0
45 24 O -4 #3 200 19.0 27.0|23 1 5¢ V= +3 -600 31.0(36 37 4v N+2 T 680 .0 23.0
12 3¢ O-3 a7 150 16.0 30.0 (28 45 5¢ V= +3 -600 31.0| 2 22 4v N+1 +2 650 5.0 31.0
3 3&S= 48 110 13.0 33.0(35 38 5¢ V= aA -600 31.0 (11 13 4v N+1 T 650 5.0 31.0
44 3% S= 48 110 13.0 33.0|41 32 5¢ V= +3 -600 31.0| 8 16 6v N-1 *T -100 7.0 39.0
46 24 O-2 &3 100 9.0 37.0|43 30 5¢ V= aA -600 31.0(21 3 6v N-1 48 -100 7.0 39.0
37 24 V-2 A 100 9.0 37.0|50 12 3NO= 4Q -600 31.0(28 45 6v N-1 T -100 7.0 39.0
13 44 S-1 48 -100 5.0 41.0(11 13 3NO+1 a5 -630 40.0 (40 33 6¥v N-1 +9 -100 7.0 39.0
30 44 S-1 48 -100 5.0 41.0(15 9 4vDN-4 v6 -800 42.0 (41 32 6v N-1 43 -100 7.0 39.0
42 3NN -2 v2 -200 2.0 44.0(29 44 5vDN-5 ¢Q -1100 44.0 (48 25 6v N-1 +9 -100 7.0 39.0
32 64S-4 48 -400 0.0 46.0(27 46 5vDS-6 +¢K -1400 46.0| 6 18 6v N-2 *T -200 0.0 46.0
47 24.0| - 47 24.0| - 47 24.0
40 33 Pen/Pen 0.0 -4.6
« E102 38 410762 39 410
Nord v 1096 Ost vE Syd v KKn7652
4953 ov + KDKn854 Alla + D87
&#KKn54 K8 &EK4
4 KKn9754 & D6 4 EDKn4 485 & K53 & Kn642
vD7 v Kn42 v87532 v DKnl096 v 109 vED84
+ D6 ¢ EKKn7 ¢ E3 + 107 ¢ KKn954 ¢ 2
#3863 #ED102 &E7 #Kn1063 #DKnl0 #9752
4383 « K93 « ED987
v EK853 vK4 v3
¢ 10842 4962 ¢ E1063
97 #D9542 #863
Par Kontr Ut Res Poang Par Kontr Ut Res g Par  Kontr Ut Res [o]
21 44 O-1 vK 50 41.0 5.0|32 43 3NDS= v2 550 0.0(27 48 2v V-3 &A 300 0.0
47 44 V-1 vT 50 410 5.0|18 8 4¢vDV-1 +¢K 200 3.0|15 11 3¢ S= vT 110 2.0
46 44 V-1 vT 50 41.0 50|24 2 4vyDV-1 +¢K 200 3.0|50 13 24 O-1 v3 100 4.0
38 44 V-1 vT 50 410 5.0|16 10 3¢ N= vQ 110 70 521 3NN-1 *4 -100 9.0
34 44 V-1 vT 50 41.0 5.0|40 35 3¢ N= vQ 110 70 6 20 2¢v N-1 *2 -100 9.0
13 3NO-1 v3 50 41.0 50| 6 20 4v O-1 + K 100 16.0( 9 17 2v N-1 *2 -100 9.0
14 24 O +2 vA -170 29.0 17.0(12 14 4v V-1 +K 100 16.0|22 4 24 S-1 L JO) -100 9.0
11 14 V+3 vT -170 29.0 17.0(25 1 4v V-1 + K 100 16.0| 3 23 3v N-2 2 -200 21.0
2 24 O+2 vA -170 29.0 17.0 (29 46 4v V-1 + K 100 16.0 (16 10 3¢ S-2 *0Q -200 21.0
1 24 O+2 vA -170 29.0 17.0(30 45 4v V-1 +K 100 16.0|29 46 3¢ S-2 *Q -200 21.0
45 24 O +2 vA -170 29.0 17.0 (36 39 4v V-1 + K 100 .0 16.0|36 39 24 S-2 &J -200 21.0
31 24 O+2 vA -170 29.0 17.0(37 38 4v O-1 +3 100 .0 16.0|37 38 3v N-2 *4 -200 21.0
4 24 O+3 43 -200 22.0 24.0( 9 17 4¢ N-1 vQ -50 .0 240|140 35 2N N-2 &5 -200 21.0
23 44 O= vK -420 110 350 5 21 5¢DN-1 &6 -100 .0 28.0|41 34 3¢ S-2 a2 -200 21.0
20 44 V= v6 -420 110 350( 7 19 4¢DN-1 vJ -100 .0 28.0|44 31 3v N-2 *2 -200 21.0
19 4e V= v3 -420 11.0 35.0(28 47 5¢DN-1 ¢Q -100 .0 28.0|12 14 3v N-3 *2 -300 36.0
17 44 O = vA -420 11.0 35.0(15 11 3v V= +Q -140 .0 340|18 8 3NN-3 2 -300 36.0
10 44 O = vA -420 11.0 35.0 (41 34 3v V= *+K -140 12.0 34.0(24 2 3NN-3 &5 -300 36.0
8 44 O= vA -420 11.0 35.0(50 13 3v V= +K -140 12.0 34.0(28 47 3NS-3 L JO) -300 36.0
48 44 V= vT -420 11.0 350 3 23 3v V+1 + K -170 6.0 40.0 (30 45 4v N-3 2 -300 36.0
43 44 O= vA -420 110 350(22 4 3v V+1 *+K -170 6.0 40.0 (32 43 3v N-3 *2 -300 36.0
39 44 V= &5 -420 11.0 35.0(27 48 3v V+1 + K -170 6.0 40.0 (42 33 3¢ S-3 &J -300 36.0
35 44 O= vA -420 11.0 35.0(42 33 4¢DN-2 vJ -300 1.0 45.0( 7 19 3NN-4 &9 -400 45.0
33 44 V+1 v9 -450 0.0 46.0(44 31 54DN-2 ¢Q -300 1.0 450(25 1 3NN-4 v2 -400 45.0
- 26.2 49 - 26.2 49 -
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40 « EDKn 41 4 K10 42 #1053
Vast v 854 Nord v 852 Ost v 7642
Ingen + 9874 oV + DKn109853 Alla + E1082
#DKn3 &7 D3
4953 41087 & E52 « D864 4Kn96 «E74
v Kn62 v EKD1097 vDKn973 v10 vyKD98 v53
¢ KKn105 ¢D +64 * K72 +3 + D654
&»E92 K106 #954 &#E8632 #K8652 #E1094
& K642 4 Kn973 & KD82
v3 v EK64 v EKn10
¢+ E632 ¢ E ¢ KKn97
#8754 #KDKn10 &Kn7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 15 4v O-1 &8 50 40.0 6.0(25 3 3¢ N+2 v3 150 46.0 0.0 1 27 INN+2 &2 150 46.0 0.0
17 11 4v V-1 v4 50 40.0 6.0 1 27 3¢ N+1 v2 130 40.0 6.0(10 18 INS= &2 90 43.0 3.0
28 49 4v V-1 v4 50 400 6.0| 4 24 3¢ N+1 vT 130 40.0 6.0(25 3 2¢ S= vK 90 43.0 3.0
29 48 4v O-1 *A 50 40.0 6.0(17 11 3¢ N+1 vT 130 40.0 6.0(13 15 INS-1 v2 -100 38.0 8.0
31 46 4v O -1 v3 50 40.0 6.0(19 9 3¢ N+1 vT 130 40.0 6.0(17 11 INS-1 &2 -100 38.0 8.0
42 35 4v O-1 a2 50 40.0 6.0|37 40 3¢ N+1 vT 130 40.0 6.0|28 49 INS-1 &2 -100 38.0 8.0
45 32 4v O-1 &8 50 40.0 6.0(10 18 2¢ N+1 vT 110 320 140| 4 24 2%V +1 a3 -110 31.0 15.0
127 3vO= &5 -140 22.0 24.0|13 15 3¢ N= v2 110 320 140| 6 22 2%V +1 &3 -110 31.0 15.0
6 22 3v O= a4 -140 22.0 24.0|23 5 3¢ N= vT 110 32.0 14.0|29 48 3% V= &3 -110 31.0 15.0
721 2v0O+1 +3 -140 22.0 24.0| 6 22 4¢ N-1 vT -50 17.0 29.0 (30 47 3 V= ¢ A -110 31.0 15.0
16 12 3v O= a4 -140 22.0 24.0| 7 21 5¢ N-1 vT -50 17.0 29.0|42 35 INO+1 N -120 26.0 20.0
19 9 2v O +1 a4 -140 22.0 24.0| 8 20 3NS-1 vQ 50 17.0 29.0| 7 21 34V +1 &3 -130 23.0 23.0
23 5 2v0+1 &5 -140 22.0 24.0(28 49 3NS-1 vQ -50 17.0 29.0| 8 20 34 O +1 +9 -130 23.0 23.0
25 3 3v 0= &5 -140 22.0 24.0(29 48 3NS-1 vQ -50 17.0 29.0(16 12 INS-2 &2 -200 13.0 33.0
33 44 2v O+1 &7 -140 22.0 24.0|30 47 3NS-1 v7 -50 17.0 29.0|19 9 INS-2 &5 -200 13.0 33.0
38 39 2v O+1 a5 -140 22.0 24.0(31 46 3NS-1 v3 -50 17.0 29.0(23 5 INS-2 &4 -200 13.0 33.0
43 34 2v O +1 a2 -140 22.0 24.0(38 39 5¢ N-1 vT -50 17.0 29.0(31 46 INS-2 &5 -200 13.0 33.0
50 14 2v O +1 &8 -140 22.0 24.0(41 36 3NN-1 46 -50 17.0 29.0|33 44 INS-2 »2 -200 13.0 33.0
10 18 3v O +1 v3 -170 8.0 38.0(42 35 3NS-1 v2 -50 17.0 29.0(38 39 INS-2 &5 -200 13.0 33.0
30 47 2v O +2 *2 -170 8.0 38.0(45 32 3NS-1 vQ -50 17.0 29.0(41 36 1INN-2 &2 -200 13.0 33.0
41 36 3v O+1 &5 -170 8.0 38.0|50 14 3NS-1 v3 -50 17.0 29.0|50 14 INS-2 »2 -200 13.0 33.0
8 20 3v O +2 &5 -200 3.0 43.0(16 12 5¢ S-2 v3 -100 2.0 44045 32 INS-3 &2 -300 4.0 42.0
37 40 2v O +3 L Y] -200 3.0 43.0(33 44 3NS-2 vQ -100 2.0 44043 34 INS-4 &5 -400 2.0 44.0
4 24 3NV = L o) -400 0.0 46.0|43 34 3NS-2 vQ -100 2.0 440(37 40 INDS-2 &5 -500 0.0 46.0
- 2 201 - 2 201 - 2 20.1
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